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QUESTION 1

At Ethernet 1000BaseT network is wired as a physical star using switches. What is the logical topology?
A. mesh

B. ring

C. bus

D. star

Correct Answer: D

QUESTION 2

If a router cannot determine the next hop for a packet, the router will:
A. Forward the packet to the default route.

B. Send the packet back to the packet\\'s source.

C. Broadcast the packet.

D. Store the packet in the memory buffer.

Correct Answer: A

If there is no next hop, the packets are not policy routed.

A default route of a computer that is participating in computer networking is the packet forwarding rule (route) taking
effect when no other route can be determined for a given Internet Protocol (IP) destination address.

QUESTION 3

Identify the network cable type and connector in the following graphic:
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Use the drop-down menus to select the answer choice that answers each question. Each correct selection is worth one
point.

Hot Area:
Answer Area
Connector type w
RS
Fi1l
FODI |
Cable type
»
Ethernet
| [ . .
Fiber Optic |
Correct Answer:
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Answer Area
Connector type v
RI45
R |
FDDI
Cable type
Ethernet
Catd | :
Fiber Optic |
QUESTION 4

In addition to switching, multilayer switches also:

A. Provide Layer 3 routing functions.

B. Interface with CAT3, CATS, CAT5e, and fiber optics.

C. Support 10 MB, 100 MB, and 1 GB local area network (LAN) ports.
D. Operate by using only Layer 1 and 2 protocols.

Correct Answer: A

QUESTION 5
Match the networking topologies to their corresponding characteristics.

To answer, drag the appropriate topology from the column on the left to its characteristic on the right. Each topology
may be used once, more than once, or not at all. Each correct match is worth one point.

Select and Place:
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Topologies Answer Area
- Each computer is connected by a Topelngy
2lan 3
single cable.
Topology
Mesh Each workstation acts as a repeater.
Each computer is connected to every Topology
Ring other com puter.
Topology
There is a central connectivity device.
The number of connections equals Topology
the total number of computers minus
one,
Topalogy

Each node is connected to exactly two
other ncdes.

Correct Answer:
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Topologies Answer Area
- Each computer is connected by a a
2lan 3
single cable.
Ring
Mesh Each workstation acts as a repeater.
Each computer is connected to every Mesh
Ring other computer.
Slan
There is a central connec tivity device.
The number of connections equals Mesh
the total number of computers minus
one,
Each node is connected to exactly two N9
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